DdY 3 - 15 HOMEWORK
PdER 32 »23

PagR 38 «7-10, 24-26. 32. 31

23. 7/ RQT is a straight angle.
Whatare mZRQS and m2TQS? (g x+20+ ZXH-,»:IBO

S % =15
" (6x + 20)° (2x d}"_ X-;Iq.g
’ ¢ W ZRQ%=43°

m2TQRS=137°
Use the diagram at the right. Is each statement truef Explain.) €&— pake Sure . (
7. 21 and 25 are adjacent angles. \4(,5[11“1 10 ¢xplawe.
8. 23 and 25 are vertical angles. F1S€ - 541
9. 23 and 24 are complementary. Fa\s,( E\K
10. 21 and 22 are supplememar}r.m\s{
24, Name two pairs of angles that form a linear pair
in the diagram at the rlght LLMPi‘. L Pmw PL/g
25, /£ EFG and £ GFH cl]‘o*':rd linear pmr,t‘ QMmN < -
m/ EFG =2n + 21, and m£ GFH = 4n + 15. L M- N
What are m/ EFG and m/ GFH? an+2l *‘Mﬂﬁﬂso MLEF&"—M’
3“4'3 | /&ﬂi\i uy’:f;:_q mLaPH=II

32, The measure nl" one ¢ dﬁgle is 20 Iess than the measure of its complement.
X=(40-X)-20 2 2%=70_ complement

D -X-20 ¥=3861 =

55

=70~
37. Algebra 7/ RQS and 2 TQS a%‘e a linear pair where m/ RQS = 2x + 4
and m2 TQS = 6x + 20.
4+ =
a. Solve for x, = M6 Qk 4 UX *ZD (80
b. Find mZRQS and m27QS. LRQAS= q.%" v+ =180
¢. Show how you can check your dl*lSWEI MmLTR= B‘r Ex= D
Y2 3+131 7 1807 \ed X=19.6




